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Question Number : 1 Question Id : 1785675643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
The National Anthem of India was first sung in :

R &1 A1 9 Uea] ) A7 737 27 ¢

Options:



1911 at Kolkata Seszzion of the Indian National Congress.
g, 4 T ML B & 1911 F B AR H |

1911 at Kolkata Session of the Rashtriva Sewak Sangh.

o NI Had FH & 1911 F Hicieblar AEe ¥

1927 at Lahore Session of the Indian National Congress.
o AR A SO 6 1927 AR SAE9eE |

1947 at Nagpur Session of the Rashtriva Swavam Sevak Sangh.
4 ARG X9TY Gad GY @ 1947 & AFTYRY ARG 7

Question Number : 2 Question Id : 1785675644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

The mind of the makers of the Constitutions of India is reflected in the :
ARG Wiage & st & 9" aRaee 26 © o
Options:
Fundamental Rights
| HIfeT® HEHR

Fundamental Duties

a :

Preamble
g, ATl

Directive Principle of State Policy
SR e T 1 | [ B = Eet Tl

Question Number : 3 Question Id : 1785675645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
The colour of wheel (chakra) in the National Flag of India is :
Options:
Black

1, PIC



Navy Blue

p NI e

Green

Question Number : 4 Question Id : 1785675646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

National Emergency can be declared under the Constitution of India by
invoking the provisions of :
TR § I A die A9 & 5y UigarE &1 T4 &Y ol o 9ddl © -
Options:

Article 352

5T 352
i SREIL 352

Article 356
Hg=oe 356

Article 360
2 Feg 360

Article 370

%

i =g 370

Question Number : 5 Question Id : 1785675647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion
'Indian Opinion’' paper was started by :
SUSTT AUHTT 99 & gHarg &1 T4

Options:
Gandhiji
1 W‘:{' il 51Y

Tilak



Gokhale
5 T LS

Swami Vivekanand
HH TTdaT=< B9

4.

Question Number : 6 Question Id : 1785675648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Montague-Chelmsford proposals were related to :

AT TCAATIS URATd JE e o

Options:
Police Reform
, IfeE R |

Administrative Reform

WEMAS gurR |

Social Reform

AN GaR §

Constitutional Reform
G- gaw 9

Question Number : 7 Question Id : 1785675649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The treaty of Allahabad was concluded between :

SolErae i g ¢
Options:

Lord Clive and Shuja-ud-Daulah
| IS Fod SR YoA-s-2el & He

Lord Clive and Shah Alam II
TS Felsd IR e s I & Heg

Lord Clive and Shuja-ud-Daulah and Shah Alam IT
cifsS Fel1sd Ud Yuil-9-glel 3R e e I & Jed




Lord Clive and Mir Qasim
4 clls dellzd fﬁﬁ? ]ﬂ? & E\"'q :ﬁ HeO

Question Number : 8 Question Id : 1785675650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Udhyam Abhilasha, a National Level Entrepreneurship Awareness Campaign
is lauched by :

FEq WA, AT Uh U WN Bl Suiadl FTRedl IO 2 99 e e

Options:
Exim Bank

gfdotd 4 NI

i

NABARD
” qreTS BT

SIDBI
frsdl g/

IFCI

r

ATso Uho Wlo Mo BN

Question Number : 9 Question Id : 1785675651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
Which company has become India's largest tax payer in private sector ?
B HA U H ol & Y ged 991 dwar &1 8 7
Options:
ICICI Bank
FEo o M Hio AEo 4

1

Reliance Industries

RETad SaEr

2

Tata Steel



TCS
i Tr_*_}[o ?{'1&'[0 UHo

Question Number : 10 Question Id : 1785675652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Who recommends the MSP and issue prices ?
THe UHo Ylo Ud AT ST &1 3T HIF Hal & 7

Options:
Ministry of Agriculture

Plam‘uitg Commission

o, AT 3T

NABARD

Comumission for Agricultural Costs and Price (CACP)
P AT T FedT JEET (WioToloto)

Question Number : 11 Question Id : 1785675653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Black revolution is related to
FTel I (@rh Rarege) Hafoe 2

Options:
Fizh Production

5,

Hoell 9odlad

1

Coal Production
il JodTg— 9

Crude il Production
FE] O Soared 9

Mustard Production
g7l 9cded 9




Question Number : 12 Question Id : 1785675654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which of the tollowing is not a biotic element of environment ?
Rrfemad ¥ & S iR &7 Sfiw o T8 2
Options:
Soil

g

Plants

5 HIEY

Animals
:]_'| '_‘|I'. L4

Bacteria

&

Question Number : 13 Question Id : 1785675655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The Mohiniattam dance form was developed in :
Options:

Andhra Pradesh

T "oy |

Karnataka
e lCeh T-I'

Kerala
5 ®xd H

Tamil Nadu

, THErg

Question Number : 14 Question Id : 1785675656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Where is Kandariva Mahadeo Temple situated ?
o] HeTed Hiax @af Red & 7

Options:
Sarnath

1 HINAT

Konark

=

i

Khajuraho

!

3 g '\_,-!“x B

Sanchi

4@?‘?[

Question Number : 15 Question Id : 1785675657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Which of the tollowing was not a centre of Buddhist Art ?
= § T B digHel B 55 Tar o ?
Options:
Sarnath
TR

1

Gandhar
TEY

Mathura

5 HI

Vatapi

o

Question Number : 16 Question Id : 1785675658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which country won FIFA World Cup Football tournament, 2018 held in Russia ?
4 4 gU Bl faed &0 Hedra Hfoaii, 2018 & 99 | Wik ?

Options:



France
qf -'\

Brazil

T | €7

Arg entina
arofier

Germany

Question Number : 17 Question Id : 1785675659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

Which country hosted 2018 Mens Hockey World Cup Tournament ?
2018 H g¢ &Y fdvg &9 2fel Afaaiifiar o1 smarad &g g « f&ar o 2

Options:
Germany

=
L] |

Australia

m.

s

Argentina
'-.‘:l 'u-. Hlj o .

India
: wl

Question Number : 18 Question Id : 1785675660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

'Chinaman’ is a term associated with which of the following sports ?
A’ TS (2H) fod a9 e 2 7
Options:

Badminton

a2
3 I 3:] el



Table Tennis

5 cdd o9

Cricket
5 1@
Foothall

g CRUE

Question Number : 19 Question Id : 1785675661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Oscar award winning film named 'Period. End of Sentence' deals with stigma
attached with :

HAfepv Siaw drell fhed diRgeE/ vre o dow g 9uwr &f Misr/am 9 49494
off 7

Options:

Leprosy
@IE

Menstruation

HiHE g5

e

Acid Attack
UfaS ATEHHEY

Question Number : 20 Question Id : 1785675662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Who is the Governor of the Reserve Bank of India ?
Options:
Urjit Patel



Raghuram Rajan

5 ‘\UIH H oA

Shashikanta Das

9IRT=l gTd

Ajit Doval

Sl SHie

Question Number : 21 Question Id : 1785675663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

'Mission Shakti' recently in news is related to:
Y 2Tl 9EER § e g 9wty 2
Options:

Anti-satellite Missile
1 uE-Hearse Harsd

EMISAT satellite
R Hedarge

Women Empowerment
. Higcll eI

Military operation
. fAfered] amuve=

Question Number : 22 Question Id : 1785675664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

National Space Agency ISRO signed agreement with which country to set up a
joint maritime surveillance system ?

U HaRe Uil eige THo aRe e (FEX) o 69 <9 & WY HYH 99
TR SaaeR] wenfug &v @ fole S faar g 7
Options:

United States of America
| AT A SRS




China

E.aﬁ

France

3

Rus=ia

4.1‘771:[

Question Number : 23 Question Id : 1785675665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Guestion
The provision for constitution of Finance Commission is in Article :

9 SIFT & e & o] WaeH § s

Options:

Question Number : 24 Question Id : 1785675666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

An area can be declared as 'Scheduled Area’ by the :

Options:
Parlinment
‘i‘:."‘x:|--| HE

State Legislative Assembly
5 o @] TdEaYT 819



President

Question Number : 25 Question Id : 1785675667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Guestion
The nature of Constitution of India is
Options:

Unitary

1 UhlcH

Federal

Quasi-Federal
o HE-HHTHS

Neither Unitary nor Federal
4  UchicH$ &fﬁr - \':I-‘F.] Hah

Question Number : 26 Question Id : 1785675668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The Concurrent List of Schedule VII of the Constitution of India has -
Options:

97 items
1 97 Hg

G6H items
5 b Hg

47 items
EX:
= 47 Hg



25 items
2 2599

Question Number : 27 Question Id : 1785675669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The University Grants Commission (UGC) in Indiaisa:

AR H fAzafere s AT (gowiodo) ¥ T

Options:
Statutory body

Quasi-judicial body

o G-I e

Constitutional body

Ins.trume:ntalitf; of Union Government

4 DRI BN B AHBT

Question Number : 28 Question Id : 1785675670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The administrators of Union Territories are designated as :

A I &S0 & WIS I HEl ol 8

Options:
Lieutenant Governor

, dEve gR

Chief Commissioner

, A Pl

Administrator

5 ARITAD

All of the three
4 T



Question Number : 29 Question Id : 1785675671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The states of Punjab and Harvana created in 1966 were on the recommendation

of :

ay 1966 § UHTE SN SNGON 1S B Ford (BG4

Options:
Mahajan Commission

1

Dass Commission

al E'r'lul“. ?f‘DI ﬂ?ﬂu :”‘I x]h ud

Shah Commission

Dhar Commission

OR SATT B AEal W

Question Number : 30 Question Id : 1785675672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Angknr Vat temple is situated in which country ?

3R Hiex g <9 § fem & 2

Options:

Cambodia

T
LW L %

1
Nepal
o '

Greece

3 T

Indonesia

4 LgE A IR



Section I1

Section Id : 17856793
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 27
Number of Questionsto be attempted: 27
Section Marks: Q0
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 178567137
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 1785675673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label ; Multiple Choice Question
'A + B means ‘A’ is the son of B; 'A — B meanz "A' iz the wite of B'; 'A x B' means=
A is the brother of B: 'A = B' means 'A' is the mother of 'B' and 'A = B' means "A'
is the sister of B. Whatis does P + R — Q mean ?
‘A +B &3 A, BHI U & 'A— B & 32 A, 'B @I Uil 2 'A x B & 3 A
‘B HIHE ;A + B P A, B @I HI € 9T 'A =B & 3R 'A, 'B' @I 981 = |
P+R—QFT & &1 & 7
Options:

Q iz the father of P
, QP faam 7

Qis the sonof P
, QPH A &

Q iz the uncle of P
T St

Q is the brother of P
, QPT CIER

Question Number : 32 Question Id : 1785675674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

What replaces question mark (?) in the series given below :
g faU Y @en 4 uedrgs e (2) B WFE @ BN
88, 64, 24, ?




Options:

3
1.

[

'-;J—l

Question Number : 33 Question Id : 1785675675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

What should come in the place of question mark (?) in the following series :
FeTferiad 2agell | ue- &2 (2) & ¥ WY 1 AT A@ney 7
CO3KP, DO4KQ, EO5KR, FO6GKS, ?

Options:

. GOYKP

GO6KT
z.
5 GOGKT

GOYVKT
4.

Question Number : 34 Question Id : 1785675676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

In the fca]lc;wing series, one number is wrong,. Find out the wrong number :
FIfeIRgT e H U %R TTad 2 | T HeEl gaiy
100, 27, 90, 86, 76, 71, 62; bb

Options:
55

1.

62
2.



Question Number : 35 Question Id : 1785675677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If A means '+, B means -, C means %/, then find the value of following

equation :

Iy A &1 Aad '~', B &1 9a90d =, C &I 9aad X' g o F=fafiad agieo &1 94
46 A2B3C4=7?

Options:
34

11

Question Number : 36 Question Id : 1785675678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Find the region that represents those rural students who are not intelligent ?
T &5 BT adI0 ol 99 ATHI BIEr & Wiosiee &dl & ol gigA i A
Rural (FmH)

> Students (8TH)
F \ G /
—

——> Intelligent (fEHM)

Options:

D
1.



Question Number : 37 Question Id : 1785675679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

If 'AxD means A’ is sister of 'D’, 'A + D' means 'D' is the daughter of ‘A’ and
'A = D' means 'A’ is the mother of 'D’, then how will 'N' is the aunt of 'M' be
denoted ?

It 'A x D & Aace ‘A, D' @ 989 8 'A + D' & Faad ‘D', 'A' T 9¢1 B 3R
'A+D @ Hadd ‘A, D' ®1 AT 2, 79 N, M @ = B hd FEia e ?

Options:
M+LxN

LxN+M
M=~L+N

NxL+M

Question Number : 38 Question Id : 1785675680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

A watch, which gains uniformly is 2 min slow at noon on Monday and is 4 min.
43s fast at 2 pm on the following Monday. At what time it was correct ?
s wel forgH ¥R ¥AF wU ¥ 98 V8l ©, 9 YA w9 9Har B sl 4 2 FEe
dT 2 3% 3Pl EHAR $ gMex 2 ad, 4 5T 48 Havs Od 2| 98 fha wHg wel
o] ?
Options:

2 pm on Tuesday

HITAgI i 2 pm T

1



2 pm on Wednesday
ECEIR w2 pm T
2.

3 pm on Thursday

- TE oam &1 3 pm T

1 pm on Friday

SR Cag! pm WX

4.

Question Number : 39 Question Id : 1785675681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

If the Republic Day of India in 1980, falls on Saturdayv, X was born on March 3,
1980 and Y is older to X by four davs, then Y's birthday fell on :
ufe 1980 H 9YRT &7 Uk fodq, THaN &1 9sdl £, X & o9 3 99, 1980 & &

5,

ARY. XU IR g diYsr  aHeca afea g ?

Options:
Thursday

-

1 EEE'JW SGIE:
Friday

-aﬂ_S‘-’?'" !

Wednesday

Saturday

Question Number : 40 Question Id : 1785675682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



Six persons are sitting in a circle. A is facing B. B is to the right of E and left of
C. C is to the left of D. F is to the right of A. Now, D exchanges his seat with F
and E with B. Who will be sitting to the left of D ?

TR A GCEIABF I B EFSE ANCH IS AR ZIC, DS
g INZIF, AD S AN el 36 D, FD W 3N E, B & 9 U7 Wie &I
JMEH-UEE &3 & | D@ ar iR &9 de1 & 2

Options:

b
1

A

Question Number : 41 Question Id : 1785675683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Six persons are sitting along a dining table to have dinner. B is between F and
C. A is between E and D and F is to the lett of D. Whao is betwween A and F ?
T AN aH & N SEMAT S WS 2| FIIRCH A BEIEIRD &
a9 AZIREDS 918 AR 2 1A SRF® 9K & & ?
Options:

E

ki

D

Question Number : 42 Question Id : 1785675684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Question is followed by two statements numberd I and II. Decide whether
the data given in the statements are sufficient to answer the question.
Mark answer as

i e A M O e O ol e s 2 el = e el B 1

e | fEE wan grer gave B oW Ad | R % w9 A At @

Who type at a faster rate, Navin or Sapna ?
A AT AT, W A GY W ey hedl 8 7

I The difference between their tvping rates iz 10 words per minute.
Sd SIS 59 @ drE @ e 10 T ufd FEe 2

II. Sapna types at a constant rate of 80 words per minute.
qo=1 wfd e 809l & v FAffoa 59 9 oy o 8

Options:
If Statemnent I alone is sufficient but statement II alone is not sufficient to answer

the question.

i Afe s wA Tuard 2 ol ddael & I aare =98 2 |

If Statement IT alone is sufficient but statement I alone is not sufficient to answer

the guestion.

e et @ I vare 2, wfthd tael e Do |98 2

I both Statement I and II together are sufficient to answer the question but neither
statement alons is sufficient.

5 Uf& gl @ Tae I | 99 o9 & fon qure & oiftes serr-sien 1 =21 2 |

If Statement I and II together are not sutficient to answer the question.

afE & @A D e Dwner § 5o &7 @ o0 g7 98 2 |

Question Number : 43 Question Id : 1785675685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



Question is followed by two statements numberd I and II. Decide whether
the data given in the statements are sufficient to answer the question.

Mark answer as

i e A M O e O ol e s 2 el = e el B 1

e | fEa o grer gave B o Ad | v % w9 A At @
If we assume a constant reading rate, can Sunil finish the book in 6 hours ?
£ 1= TR e e e O s = 5 O e e e = (o B e e
e § 7

I Sunil reads 54 pages an hour.

el U He H 54 ol ugen # |

II. In 2 hours, he reads half the books.
2 He H o8 fhare & &g B ® g 2|

Options:
If Statemnent I alone is sufficient but statement II alone is not sufficient to answer

the question.

y T e T 17 &, eifr Faet o= Do T8 21

If Statement II alone is sufficient but statement I alone is not sufficient to answer
the guestion.
Afe et I oA 8, oifth thael @ 1o =2t 2

If both Statement I and II together are sutficient to answer the question but neither
statement alons is sufficient.

5 TR gl @ Iafe v § 9o o9 o fon g & oiftes senr-sier aar =52) 8 |

If Statement I and II together are not sufficient to answer the question.
afg g weE  Ew Do | 907 59 & fon gama =8 & |

Question Number : 44 Question Id : 1785675686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question



Question is followed by two statements numberd I and II. Decide whether
the data given in the statements are sufficient to answer the question.

Mark answer as

i e A M O e O ol e s 2 el = e el B 1

e | fEa o grer gave B o Ad | v % w9 A At @

In a certain packing house, grapefruits are packed in bags and the bags are
packed in cazes. How many grapefruits are in each caze, that is packed 7

LA 1 el T O ) = = 0 s o - el A 1 - A = L |
gl fee | e s 2 @ b gw b o g 7

I.  The grapefruits always packed 5 to a bag and the bags are alwavs packed 8
to a case.
Foia KU M £ e M B £ e O 1 L At e e £ ot i W R B A
STl & |

II. Each case is always 80% full.
e fae gH e 80% WY B & |
Options:
If Statement I alone is sufficient but statenment II alone is not sufficient to answer
the question.
Afe waer wua vy 2 ofea dae w2 Do T8 2|

1.
If Statement II alone is sufticient but statement I alone is not sufficient to answer
the guestion.

o A 5 T M B B A s e 2 g e B = e B =t
If both Statement I and II together are sutficient to answer the question but neither
statement alons is sufficient.

5 TR gl @ Iafe v § 9o o9 o fon g & oiftes senr-sier aar =52) 8 |
If Statement I and II together are not sufficient to answer the question.

y TR S FALER Dae § Sw &9 & fay T qE E

Question Number : 45 Question Id : 1785675687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question



All the surfaces of cube of 15 cm side are painted with red colour and then it is
cut into smaller cubes of 3 cm side. Then, how many smaller cubes are there
having only one surface painted with red colour ?

15 AT ol dlel F &1 FH Helgl DI ot W 9 T Il 2 ) Y 39 3§l

oIl drel BIc 9ged H @i f6d Sl 21 a1 fbad Bic e 2, [H $ad o 2
e A WM gg 2 ?

Options:

13
1.

Sub-Section Number : 2
Sub-Section Id: 178567138
Question Shuffling Allowed : Yes

Question Id : 1785675688 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (46 to 48)
Cesticn Label | Comprehiension



Read the following pie-chart carefully and answer the questions given :

fr=ferfad o =E eaFgdsd U 3R QU 7Y HeHl &1 9T § ¢

Distribution of total voters from six different cities and distribution of female voters
among these cities.

O AT-HT EN U ool Fagiel B f9aver SN 9 wed $ A4y dieen dasts @
ferera |

Total number of voters = 64,000 Percentage distribution of female voters
Hol AdaIaR S A& = 64,000 AT Faarel B Jioea e

Ratio of males and females=5:3
Y SN Algerel B I =53

—

Sub questions

Question Number : 46 Question Id : 1785675689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The number of male voters in city F is approximately what percent of the
number of voters in the same city (approx.) ?

IE% B ¥ G59 Haardisi @ G S91 9EY H AqSsl @ @8 & e Ao ¢

Options:

43
1.

=g
L

L
]

Question Number : 47 Question Id : 1785675690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

What is the average number of female voters in city A, B and E together ?
Y A, BAREH Us @l Al Adardisil & 3Ard de@n #4917

Options:
, 4200

2400

Question Number : 48 Question Id : 1785675691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Guestion

The number of male voters in city C is what percent of the number of male
voters in city D (approx.) ?

e C H U&HY HAdqraidll & 9@ ] D § U%Y Hdcrisdl B G & fhdH
afcrerd 2 (&) ?

Options:

25

Sub-Section Number: 3
Sub-Section Id: 178567139
Question Shuffling Allowed : Yes

Question Number : 49 Question Id : 1785675692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



Two statements are given below tollowed by two conclusions I and IL
You have to consider the two statements to be true even if they seem to be at

variance with commonly known facts. You have to decide which of the

conclusions, it any follow trom the given statements. Give answer

(o M 71 B T s 1 i - O L= e e o s |
R B e L a wH=  y B E=  CO B  £ keB= O J F= c
i R A S L 7 s P o L 2 A 1 = = M e s

Statements : 1. Some books are magazine.
FYT : Fw fomare afiE |

II. Some magazines are novels.

W OEET ST E |

Conclusions : 1. Some books are novels.
e . T (haTd ST E |

3
R

II. Some novels are magazines.
T SO a9
Options:
Only I tollows
. Tl 1 ey gvdn &

Only 11 follows

> w11 e & 5

Both I and 11 follows
. Iuq I ST 3R 6 &

Neither [ nor IT follows

4=anI=n.=|'TIIa1j'{Tm:rT~!F‘r%

Question Number : 50 Question Id : 1785675693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Two statements are given below tollowed by two conclusions I and IL
You have to consider the bvo statements to be true even if they seem to be at
variance with comunonly known facts. You have to decide which of the
conclusions, if any follow from the given statements. Give answer

2 b B | 8 O 8 B e O e e e e e B
e B | = w21 S 5 s £ e O e 12 s ) e F= o ) B R

=0 o e e L 7 S S P O e O e 1 == M B o =

Statements : 1. All good hockev plavers are in the Indian hockey team.
FYT : [T = Bl Raomel Yo Bre O A B |

II. 'X is not a good hockev plaver.

P el 2 = vl e s B =

Conclusions : 1T "X is not in the Indian hocke v team.

ey X e gl 2 H e B

II. X wants to be in the Indian hockey team.
X' et gia S A e g awa |

Options:
Only I follows
, I T STEROT el &

Only 11 follows

> w11 e & 5

Both I and 11 follows
. Iuq I ST 3R 6o &

Neither [ nor II follows

4 T T LA ar I e o ®

Question Number : 51 Question Id : 1785675694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



Two statements are given below tollowed by two conclusions I and IL

You have to consider the tvo statements to be true even if they seem to be at
variance with comunonly known facts. You have to decide which of the

conclusions, it any follow from the given statements. Give anzwer
al wod % are &1 e 1w I A & o # | amaa &1 el @ e Jee g
e B B o H s B e e T e e B e B M e B R e
B {6 f&n T e H W wE-ar Fesd, afg e s, o 9ee |
Statements : 1. Some scales are pencils.
FUT : FY el 9T 2 |
II. Some erasers are pencils.
HY vEs Uiiel # |
Conclusions : 1. Some pencils are erasers.
famat o g e |
II. Some pencils are scales.
W U T €
Options:
Only I tollows
. Fac 1 g wal ©

Only 11 follows
el 11 argEes] 3T 8

2.

Both I and II follows

Slq?ir[#ﬁaqwqﬁ%r?

Neither [ nor IT follovws

4 T AL ar I ST 9§

Question Number : 52 Question Id : 1785675695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A solid cube has been formed with 64 smaller cubes. How many smaller cubes

are completely invisible ?

64 BIC U & WY U SME O &1l T 2 fha BIc 99 0 ORE |9 g © 7

Options:
2

1
4



o

Question Number : 53 Question Id : 1785675696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Pointing towards a person in a photograph, Anjali said, "He is the only son of
the father of my sister's brother”. How is that person related to Anjali ?

BICIATE H Afde W1 AR SR HWd gY Aol - Fal b, T8 A 98 & AR5 b
fidT &1 UhAra I3 27 | U8 =fad &1 dofell § &1 Had 2 ?

Options:
Anjali's Father
| SSTell & fom

Anjali's Mother
o H--ﬂ(’ th.[ HIc

Anjali's Brother

5 Tl BT 4TS

Maternal Uncle
4 AT

Question Number : 54 Question Id : 1785675697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Choosze the word which is least like the other words :

ofe @1 gAY Gl A Wegl Dl HIfd HH H HH AT 2 ¢
Options:

Pineapple
| I

Orange

o WY



Banana

4 o

Question Number : 55 Question Id : 1785675698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Question

Rohit walked 25 meters towards South. Then he turned to his left and walked
20 meters. He then turned to his left and walked 25 meters. He again turned to
his right and walked 15 meters. At what distance is he from the starting point
and in which direction ?

i SfEr w1 AR 25 Hiex deihx A1 94 98 AU 9 g9 Ud 20 Hiew g9day
T | T 98 (99 91 g1 d91 25 Hiey deldx a1l 98 I 30 </ gl a9l
15 A1ex g} U1 | 98 SRS @ Y fhd-l 5% X 2 du1 feg fRen H 2 7

Options:

35 metre, North

1 35 HiEY, 9T
30 metre, South
o 30HITR, TEW

35 metre, East
35 Hew IRE

30 metre, North
3[] ]ﬁ E\ Sia

Question Number : 56 Question Id : 1785675699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Complete the series 95, 115.5, 138, .___._. , 189
ST 95,1155, 138, ... , 189 W1 URT SIfAY :
Options:

1605

1.



1665

Question Number : 57 Question Id : 1785675700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

In the guestion below iz given a statement followed by two conclusions
numbered [ and II. Give answer :
A fav o g § weE B o 2 faws e g ey Iog IO 8 | ey sSife
Statement : Add colours to lite - Use CAMLIN' colours,
FT ! St H 9 9Rg — @mfers 30 @ ganr Sk |
Conclusions : 1. Catchv slogans do not attract people.
faes S 1 e A i e B e el e e e

I[I. Water colours are preferred by people.

2 R =4 s A | | 5

Options:
If onlyv I tolloves
: afe el [ 3T Hidl 8

If only II tollows

> oife @A I AR gl 2

If either I or IT folloswws
. ofe 7 ar I I oo &vd &

If neither I nor 1T tollows

4 T AT I 8 IS o §

Sub-Section Number: 4
Sub-Section Id: 178567140
Question Shuffling Allowed : Yes

Question Id : 1785675701 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (58 to 59)
Juestion Label - Comprehension



Study the following information and answer the questions given !

Six students go to class on ditferent davs of the week from Monday to Sunday, but one
dav of the week has no class. Thev also like ditferent colours. E goes inumediate before
C, who does not like white. The one who likes Blue, goes on Thursdav. F likes black
and goes on Tuesday. The one who likes Red, goes on Mondayv. D goes before B but
does not like White. There is three davs gap between F and A. There 1= one dav gap
between the davs on which the ones who like Blue and Yellow go. The one who likes
Green, goes atter the one who likes in Yellow.

fAeferfiad THeRT ST 9= &Y FR {37 77 79t & guv o

B e 1 i 1 s | o 0 37 e - e i = s e s o o
Tl Tl Sl BN & | 9 ater-aten I A 7 2| E, C 9 UEd gva " A g, e e
g FEl B | W7 Al THE 6l 8, 98 edN @ Wil & | F @1 eien oee § AN a8 S
@ RN B | WO THE fedl 8, 98 "EaN & Wl 8 | D, B 9| 9se o g i v
®] TET A8 el 8 | F & A @ A o B9 @ @ow 8| S0 Al &N fien oeY 6 E
SR B i B | O 3 e | e = e | M) e B e s e 1 = s =

Sub questions

Question Number : 58 Question Id : 1785675702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Lateal Multiple Choice Guestion
Which of the tollowing colour does A like ?
A B | 9 i 7 1 U e 8 7
Options:

Blue

Ara

Yellows
o I

White
3, WHE

Black
4, el

Question Number : 59 Question Id : 1785675703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice GQuestion
On which ot the following davs B goes to the class ?
e &= | fore 59 &1 B e & @ 8 7
Options:
Monday
PG

Sunday

s

5 T



Thursday

5 g

Friday

4 YA

Sub-Section Number: 5
Sub-Section Id: 178567141
Question Shuffling Allowed : Yes

Question Number : 60 Question Id : 1785675704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Read the tollowing information and ansiver the questions given below :
6 M 2 | e e | A e AR = e 2 e | i ) s R =) s L

‘A + B means A is daughter of B

'‘A+B & AqeE 2 A, B g9 B

'‘A*B means A is the sonof B

'A*B @7 AadE B A, BW UI

A —B means A is thewite of B

'A—B % WieE 2 A, B 9= ©

How is A related to B ?

A BY ST HEE # 7

I P, the only son of A, has two sisters.
Pal A UHATE 03 &, & & 98 & |

II. A'sszonis the brother of the only sister of B.
AT 03 B & g 45 @ A1 F |

HI. B and P are children of A
Bug P, A® = & |

Options:
Only [and II

) Foael Tug II

Only- II
et 11

Onlv IT and III
drerel I we [T

None of three
s [ 0 B e o



section III

Section Id : 17856794

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 30

Number of Questionsto be attempted: 30

Section Marks: Q0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 178567142
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1785675705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

12|+ |-2|+2)% +(-2)* =2

Options:

(o
1.

Question Number : 62 Question Id : 1785675706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The side of a square is 10 cm. How many times will the new perimeter become
it the side of the square is doubled ?

LGz o B ¢ A | - e 1 B o O 2 e 3 | e o 21 B s R R e
Feer 3T 1 QeI 7

Options:
2 times

1_31?”



4 times
2 4 TN

G times

3. & I

5 times

40 T

Question Number : 63 Question Id : 1785675707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

(2f x3f =2

Options:
4096
1.

4046
z.

3096
o

3046
4.

Question Number : 64 Question Id : 1785675708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

To gain 25% after allowing a discount of 10%, the shopkeeper must mark the
price of the article which costs him ¥ 360 as

10% FET S & 918, 25% 1 A9 AT &% & [0 b3l g@ar @1 T 360 &N
dTell T 1 Hod 3Afchd ®Y d1ey

Options:
, T 500

, T450
5 T 460

4 T 4536



Question Number : 65 Question Id : 1785675709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Guestion
The place value of zero in 1341 01 is :

1341.01 § 99 @7 =+ 919 2

Options:
10
1.
A
5 10
1
=
0
4,

Question Number : 66 Question Id : 1785675710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Evaluate -
o9 Ha&rfe
62025 + 62025 + 62.025 + 6.2025 + 0.62025

Options:

6791 59775
1.

5 65891.59775

6591.59675

Question Number : 67 Question Id : 1785675711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Company workers decided to raise Rs. 3 lakhs by equal contribution from each.
Had they contributed Rs. 50 each extra, the contribution would have been Rs.
3.25 lakhs. How many workers were they ?

B FHANRG 5 Ucdd U U9 IFTeE N $o 3 @G 98 & -19ay fhar o |
afg g9 @FN = Bo 50 Uyd ffdiNad Are™ fdam erar, @ IFTeE $o 3.25 @9
g1 BT | I AR fopet wHar 2 7

Options:

300
1.

400
500

600

Question Number : 68 Question Id : 1785675712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
Find the sum of first 30 natural numbers -

Tgel 30 WThis GEIRi & ATTHel Pl Fd Sifuly :

Options:

470
1.

163
2.

465
>,

463
4.

Question Number : 69 Question Id : 1785675713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Guestion

The ratio 5 : 20 expressed as percent equals to
uferere & w9 H e AU 5 20 SNIEN §
Options:

50%
1



Question Number : 70 Question Id : 1785675714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If the cost price of 15 tables is equal to the selling price of 20 tables, then the loss
percentage is :
A 15 Holl &1 %9 o4 20 Holl & (969 Jed @ avax 8, al 8l uied 2

Options:
20%

Question Number : 71 Question Id : 1785675715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

IfEH C.F. (14,35) =7, then L. C. M. (14, 35) will be equal to:
gfe H. C.F. (14,35) =7, dl L. C. M. (14, 35) a¥[&X &I :
Options:

/0

=]
i

[0 5]
|



Question Number : 72 Question Id : 1785675716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If a car travels at the speed of 72 km/hr, then the distance travelled by it in one
second is :
e Uw e 72 [Fdle/He FI TG F TGl 8, Al 1 TEUS H IHG 5 aF @ A
Options:

40 meter

40 HIex

20 meter

30 gy

25 meter

25 HITY

20 meter

20 e

Question Number : 73 Question Id : 1785675717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Out of her total income, Mrs. Dubey spends 20% on house rent and 70% of the
rest on household expenditure. It she saves Rs. 1,800, then her total income is :
A g9 AT Tl A BT 20% HGH B [H0I W AT 99 BT 70% W] TH W
2 Bl & | Afg 98 To 1,800 BT AT FYH 2, O SAH e NI T
Options:

Rs. 7,200

7,200 %o

Rs. 7,300

7,300 %o

Rs 7,400
7,400 %o
o



Rs. 7,500

” /7,200 %o

Question Number : 74 Question Id : 1785675718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The compound interest on Rs. 25,600 for 2 years at 6.25% per annum is :
%o 25,600 BT 6.25% diie &Y H 294 &1 ThHala A 2

Options:

5. 2,800

,300 %o

= =

Rs. 3,000
3,000 %o

Rs. 3,300
3,300 Fo

Rs=. 3,300
3,500 %o

Question Number : 75 Question Id : 1785675719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Suppose for the principal P, rate R% and time T, the simple interest iz 5 and
compound interest is C. Consider the possibilities -

A AT Jo8 P, &% R% 3R @AY T, \ERY &9 S 3R gmdle @rd C 2 |
/=1 TaATel W far e

G €58 (i) C=5 (iii) C < S

Then -
oq

Options:
Only (i) is correct

1fﬁmmﬂﬁﬁ%



Either (i) or (ii) is correct

zlmaﬂi}mﬁ‘m{mﬂéﬁ%

Either (ii) or (iii) is correct

o 1T (i) e (iii) @l ©

Omnly (iii) is correct

4 I (iil) WEl §

Question Number : 76 Question Id : 1785675720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The radii of two cylinders are in the ratio of 2 : 3 and their heights are in the
ratio of 5 : 3. The ratio of their volumes is ;

1 gl @l B 2 2 3 @ U H § 91 9%l edAgdl @ AU 5 3 8§
ST 1 A 7

Options:
; 10:17

[~a
|

5 20 -

=38

Question Number : 77 Question Id : 1785675721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The ratio of copper and zinc in an alloy is 5 - 3. If the weight of the copper in the
alloy is 30.5 grams, then the weight of zinc in the alloy is :

uw 3% ag o ot o wiear & U 5 3§ afg 3 arg § o9 &1 A9W 305
A €, T B ag H W @1 9N

Options:
18.3 gm
) 133918

20.6 gm
20.6 714



213 gm
213 191H

224 gm
22 4 31

Question Number : 78 Question Id : 1785675722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

What will be the change in the volume of a cube when its side becomes 10 times
the original side ?
eIl = @ A | FT GNdes R, IS Shl goil 9o goi @i 10 T 8T oIl

sl = }
g g

Options:
Volume becomes 1000 times

T 1000 AT 81 el 2

Volume becomes 10 times
AT 10 T[T 21 Wl 2

Volume becomes 100 times

AT 100 T[T 8 Wil 8

Volume becomes times

AT A1 & Wil §
i 1000

Question Number : 79 Question Id : 1785675723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

100 persons had food provision for 24 days. If 20 persons left the place, the
provision will last for :

100 =fdaal & oIy 24 f59 & Ao @ aawen of | Il 20 =afda 99 ®©1F & Blea
gel oIy, df Ao o 9949 & feQ g3 e 7

Options:
30 days

30 fg=

1.



days

&=

uu|§ u||§

120 days
5 120 f&=
40 days

4 40fe=

Question Number : 80 Question Id : 1785675724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

What number must be subtracted from each term of the ratio 37 : 223 to make
the ratin5:13 ?

87 : 223 HUId drell WENS H 9§ BF-U W& yode 9 d ¥ "el § 9 {6
T AU 5:13 BT & &g ?

Options:

4
1.

[t

Question Number : 81 Question Id : 1785675725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label ; Multiple Choice Question

The enrollment of students in a school increases from 560 to 531. Increase in
percentage in the enrollment of students is :

fdl Tehel H Ude U dlcl B30 $1 HEdl 560 9 dgdy 581 B Wl B | BTl @l

Options:

o ]
I 2570

1.



Question Number : 82 Question Id : 1785675726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A monkey climbs 30 feet at the beginning of each hour and rests for a while
when he slips back 20 feet before he again starts climbing in the beginning of
the next hour. If he begins his ascent at 3.00 a.m., at what will he first touch a
tlag at 120 teet from the ground ?

UF d5Y Hd He @l Yeed H 30 Bie $UX gedl © dAR IS o) @ forw f@sm
HYCAl B, T4 Aol °T DI YT H Y 9 FerS e el 2, ° Ul 20 Hic dis
fga® @ ¢ | afg 98 gag 8 a9 U+ ggIs Y% &Yal ©, o 9ad Ugd g8 oEH 9
120 I W &u] $I Ba BT 7

Options:
] 4 p.m.

Spm
b P

6o
iz P

8 p.m.
4. P

Question Number : 83 Question Id : 1785675727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Find the amount of compound interest on Rs. 20,000 for 3 years compounded
annually. The rate of interest for first year is 5% and the rate of interest for next
two years is 10% :

o 20,000 H1 3 TU0 BT Whgls @ATel ST DG Al 1ol Tiaay Faiferd 8l 2 |
HeH 99 H &0 BY 5% & O 30Tl o 991 § ®e 89 10% € -
Options:

Rs. 5,410

5,410 To

1



Question Number : 84 Question Id : 1785675728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

I invested Rs. 8,000 at simple interest, for 3 years at 8% per annum. How much
more would have been my return, if I had invested it, at a compound interest

(compounded vearly) at ?% % per annum ?
89 8,000 Yo 8% WERY &5d &% W 3 991 & faq o= fean| afe § g9 afd &
;’%% dqifteh =Ehafs &AM X 9 (JTe] Ufay HHEfera BT §) OHT $ear, dl fihdel

Options:
141

Rs=.

(4]

—
o

Question Number : 85 Question Id : 1785675729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

10 yvears ago the age of man is 5 years more than the four times of the son. 10
years hence the age of man is 5 yvears more than 2 times the age of son. The
present age of the man is :

10 9 qd SEH! P ATY, AT dASH @I MY & IN [ W 5 a9 A oY | 10 99f F
g% ATGAl DI A YA olsd DI AY P SR 9 5 94 AP & o | el B
aoAaE | a7y @

Options:
45 yvears
, 45T
40 years
5 40 ay
25 vears
55 o
5 O a9

50 years

50 99

Question Number : 86 Question Id : 1785675730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If we buy 2 tickets from station A to station B and 3 from station A to C. We
have to pay Rs. 795. But 3 tickets from station A to B and 5 tickets from A ta C
cost a total of Rs. 1,300. What is the fare from station A to C ?

A e 2 e T AU I B & folg 9 3 fee W99 A 9§ W9 C & g
TIed 2 o1 51 795 Yo 7 Usd = | fibg 3 fedec I\ A 4 B & foiv @ 5 feape
WY AW C & Ty §a 1,300 To o s o | &F A ¥ WA C &1 fhvn fobas
o B 7

Options:
Rs. 200
200 o

Rs. 75
75 o



Rs. 150

i 1530 %o

Question Number : 87 Question Id : 1785675731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

An aeroplane take 1 hour more for a journey of 1000 km if its speed decrease by
50 km/hr from its usual speed. What is the usual speed of aeroplane ?

1000 f&dlo @ IET & ERH, AR TS BAE SETS IOl aRdids @ B 50
fpHlo/HeT ®H &Y &, O U Hcl e 99d ol £ | g1 Weld @ ansdidd ard

Options:
200 km/hr
200 fHle /HeT

240 km /hr
240 TehHio /HET

250 km /hr
250 frdlo /92T

300 km/hr
300 faHlo /HeT

Question Number : 88 Question Id : 1785675732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

How many liters of water will have to be added to 1125 liters of 45% solution of
acid so that the resulting mixture will contain more than 25% but less than 30%
acid content ?
45% RIS =9id @ 1125 wio H o efiex a1 IR fHen o o & & aa
F1 W=l 25% 9 SAfHE 927 30% |9 wH B W ¢
Options:

More than 600 litres but less than 300 litres

600 Flo ¥ ferd =17 800 Tl H &H

More than 550 litres but less than 700 litres
550 #lo ¥ 3fdd T 700 el H HH



More than 5625 litres but less than 900 litres
562.5 ello 9 2Afgad T201 900 ofic I &Y

Maore than 560 litres but less than 350 litres

i 560 Elo § Hferd T2 350 ©ile W HH

Question Number : 89 Question Id : 1785675733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Sumoftheseries2+6+18+54+ . +43741is:
G2+ 6+18+54+ . +4374HT T & :
Options:

6350
1.

6560
z.

6660
o

6650
4.

Question Number : 90 Question Id : 1785675734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If one is added to the second digit of each number and one is substracted from
the third digit of each number and then if the first and third digits of each
number are interchanged, then which number will be lowest ?

Iie W WS & N 3d H Us el Wil B SN Ueld §ehl & i 3@ 9 Uh
Hel fear oan € iR iR Afe yoe 9= & Ugd SR N 3@ @ 99 § Udc
&ar 2, @1 SE-Ul 9= §aY BH 8000 7

Options:
, 473

563

L]
]
]



Section [V YVerbal Ability English

Section Id : 17856795
Section Number : 4
Section type: Online
Mandatory or Optional: Optiona
Number of Questions; 30
Number of Questionsto be attempted: 30
Section Marks: Q0
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 178567143
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 1785675735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Select the word nearest in meaning to the oiven word :

Curtail -

Options:
crush
1.

crook
2.

reduce

finish
4.

Question Number : 92 Question Id : 1785675736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Select the word nearest in meaning to the oiven word :

Hectic -

Options:



feverish

rash

bold
=

saintly

Question Number : 93 Question Id : 1785675737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Select the word nearest in meaning to the given word :

Expedite :

Options:

exhaust
1.

delay

gladden

speed up

Question Number : 94 Question Id : 1785675738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Select the word nearest in meaning to the given word :

Destitute -

Options:

comp act
1.

poor
2

complicated
=



troublesome
g

Question Number : 95 Question Id : 1785675739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Select the word opposite in meaning to the given word :

thamy -

Options:
mild
1.

freeze
2.

terrify
= g

conci=e

Question Number : 96 Question Id : 1785675740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given word :

garnish :

Options:

renounce
1,

exanyne
2.

appa:nlnt
=t

. disfigure

Question Number : 97 Question Id : 1785675741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question



Select the word opposite in meaning to the given word :

morose -

Options:

1 tender

stable
jovial

watchtul

Question Number : 98 Question Id : 1785675742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given word :
gtuhbjf :

Options:

neat
1.

wasteful
2.

harsh
2.

kind
4,

Question Number : 99 Question Id : 1785675743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the correct mE-Lmjng of the giﬁ,'en idiomatic expreazi 18

Run after :

Options:
; comununciate

pursue
2.



rectify
= L

i P oint out

Question Number : 100 Question Id : 1785675744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the correct 11"1&1113’115 of the gi‘i'ETL idiomatic expreszicm -

Put off -

Options:
] defeat

switch off
P thpcme

settle dovwm

Question Number : 101 Question Id : 1785675745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression:

Get through :

Options:

pass
1

resist
go through

i burn down

Question Number : 102 Question Id : 1785675746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question

Select the correct 111&1113115 of the g—i&'mi idiomatic E-xpresziml :
By and by :

Options:
. briefly

hurriedly
2. ?

generally
2.

SOOI

Question Number : 103 Question Id : 1785675747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the right word to fill in the blanks in the given sentence :

He zat forhoursjust ... _ into space.

Options:

peeping
1.

gazing
Eeej_ug

noticng

Question Number : 104 Question Id : 1785675748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the right word to fill in the blanks in the given sentence :

A memorialstonewas _._............. to those who were killed in the war.

Options:

ormamented
1.



dedicated
2.

founded
=

prec'u:ruz
4.

Question Number : 105 Question Id : 1785675749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence :

He wasutterdy .o when his wife died.

Options:
) bereft

bold
2.

excited
=

cheerful
4,

Question Number : 106 Question Id : 1785675750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the right word to fill in the blanks in the given sentence :

When it came to cleaning up aftersvards, Arati was ..o oo b“_r her abzence.

Options:

conziztent

familiar
2.

cn::115p1't:um15
=

notorious
4.



Question Number : 107 Question Id : 1785675751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Choose the correct option to form the right sentence :

________________ is a good book.

Options:

My
1. 3

His
2.

Her
=F

Your

Question Number : 108 Question Id : 1785675752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Choose the correct option to form the right sentence :

................ did I reach the platform than the train started.
Options:

As soon as
1.

5 While
5 When

j No zooner

Question Number : 109 Question Id : 1785675753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Choose the correct option to form the right sentence :

Anelephant ... .. ... .

Options:



roars

5 bleats

2 fru mpe t=

rowls
4 &

Question Number : 110 Question Id : 1785675754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Choose the correct option to form the right zentence:

B of mules arrived at once.

Options:
tlock
1

line
2.

group

ack
" P

Question Number : 111 Question Id : 1785675755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the part of speech of the underlined words in the given sentence :

The train was moving very fast.

Options:
1o

adjective
2.
5 adverb

verb
4,



Question Number : 112 Question Id : 1785675756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the part of speech of the underlined words in the given sentence:

He was very friend];- with 1s.

Options:
1 10111

adjective
=
5 A dverb

s verb

Question Number : 113 Question Id : 1785675757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Select the part of speech of the underlined words in the given sentence:

She is not a scholar.

Options:

1o
1

adjective
2.

adverh
=

determiner
4.

Question Number : 114 Question Id : 1785675758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Select the part of speech of the underlined words in the given sentence:

Though he is poor, he is generous.

Options:



prepnz—ititm
1.

conjunction
2.

determiner
=%

interjection
4.

Question Number : 115 Question Id : 1785675759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Fill in the blank with the correct preposition:

Hewas accused ... ... .. stealing a book.

Options:
with
1.

in

from
=

Question Number : 116 Question Id : 1785675760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Fill inn the blank with the correct preposition:

Lhive coopeana: Campus.

Options:

i1



within

Question Number : 117 Question Id : 1785675761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Fill in the hlank with the correct preposition:

pha was debarred ............... appearing at the examination.
2 f

Options:

1. bf"-

from
=

with
in

Question Number : 118 Question Id : 1785675762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Select the word which has been correctly spelt :

Options:
; Comparison

5 Comperison

: Comparision

o Comperision

Question Number : 119 Question Id : 1785675763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the word which has been correctly spelt :

Options:
i Forigne



Foreion
z. &

Forien
o &t

i Foreigne

Question Number : 120 Question Id : 1785675764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Select the word which has been correctly spelt :

Options:
i Superintendant

5 Superitendent
5 Superitendant
o Superintendent
section [V Verbal Abality Hindi
Section Id : 17856796
Section Number : 5
Section type: Online
Mandatory or Optional: Optiona
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: Q0
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 178567144
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 1785675765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Tedel I fEs A9 9= S e § 7

Options:



aullxl Ml Igdg

samas ko
N4 15dgl

[ Py iy
HoldY UHlqa lgdg

W A Y
4 Tgdae

4.

Question Number : 122 Question Id ;: 1785675766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

-y e $fd 8 ?

Options:
.FCs""“ '-.:l l-'l‘].r 28
1

, T Jariars

Question Number : 123 Question Id : 1785675767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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Options:

Question Number : 124 Question 1d : 1785675768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question
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Options:
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Question Number : 125 Question Id : 1785675769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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Question Number : 126 Question Id : 1785675770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Options:

Py e
Glacadlet 1Flx



Question Number : 127 Question Id : 1785675771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Options:
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Question Number : 128 Question Id : 1785675772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Question Number : 129 Question Id : 1785675773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Question Number : 130 Question Id : 1785675774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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Question Number : 131 Question Id : 1785675775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Options:

Question Number : 132 Question Id : 1785675776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Question Number : 133 Question Id : 1785675777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Question Number : 134 Question Id ;: 1785675778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question
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Options:

Question Number : 135 Question Id : 1785675779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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Question Number : 136 Question Id : 1785675780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question
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Options:

Question Number : 137 Question Id : 1785675781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Options:
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Question Number : 138 Question Id : 1785675782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
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Question Number : 139 Question Id : 1785675783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question
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Question Number : 140 Question Id : 1785675784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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Question Number : 141 Question Id : 1785675785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question
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Options:
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Question Number : 142 Question Id : 1785675786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
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Options:

Question Number : 143 Question Id ;: 1785675787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Question Number : 144 Question Id : 1785675788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Question Number : 145 Question Id : 1785675789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Question Number : 146 Question Id : 1785675790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Question Number : 147 Question Id : 1785675791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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Question Number : 148 Question Id : 1785675792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Options:
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Question Number : 149 Question Id : 1785675793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
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Question Number : 150 Question Id : 1785675794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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